5.4&5.5WS Name

Solve each inequality. Then graph the solution.

L l6a+7[<s 5 |3vee|<is
4 6n-7<59and11+5n246 5 |9-6x[2-21
7. |2n-3|>7 g8 -Tk+8<220rbk—5<-77

10 48<=E8-Bp=-l6 11. —bn—10<56and 6n + 10 < 10

—x—1l>-1lor2+5x>52

da+5>43and —da -7 =-35

|8x—2] >2

o |2%-3[=223



13.

15.

19.

22.

25.

lp-3] <9 14,

|4n—4| <44 1.

18+9r| 28 0.

Sn+10>150r12n+8=<-4 23,

1+5r>310r8—-8<-80 »7p.

10—4x<—-6orl2x+ 11 <-37

l1lp—5<-930r2-p<-8

14.

|6-3x| <9

17. =23 > 2a +5(2 - 7a)

O9x—11<97 and 6x—12 >-18

—5(5x—1)<—45

6x—52-29and 12 - 8x> 12

24.

by |7-4m| <-17
|3x +9] =24
27, —80=-5(1—4n)+ 5n



